Capenberg *** ClubTornooi *** 4 giften per ronde *** 17/03/2022 NZ OW |gift 1 NZ OW gift 2 NZ OW gift 3 NZ OwW gift 4 NZ OW
1 Robyn Jo-Mertens Willy 31 Van den Bosch Ludo-Kerckhofs Marc 1 31 | 10 0 180 NIN+3 10 0 100 04s-2 7 3 450 N4s+1 9 1 -650 045+1
u:h4 u:rB u:h2 u:r2
2 Smout Christiane-Schoemaker Denise 32 Snyders Robert-Van Genechten Rik
4 35 6 4 130 Z2K+2 8 2 =170 02s+2 1 9 140 z2s+1 3 7 —-680 045+2
u:r6 u:rl0 u:hB u:k6
3 De Cort Leo-Bracke Roland 33 Van Essche Monique-Lenaerts Jan
34 3 1 9 90 Z1N= 5 5 —420 04s= 7 3 450 N4s+1 3 7 -680 045+2
:h :k10 :rVvV HIN
4 Lammens Andre-Belien Lea 34 Vander Elst Louis-Symens Marc u:h3 v uir uiko
36 5 1 9 90 Z1N= 5 5 —420 04s= 7 3 450 N4S+1 3 7 -680 045+2
5 Docx Roger-Goossens Louis 35 Daman Martine—-Roes Jef
u:h3 u:k10 u:rv u:h3
2 33 8 2 150 NIN+2 1 9 -450 04S+1 7 3 450 N4S+1 3 7 —-680 045+2
6 Symons Linda-Vanderheyden Miet 36 Vercruyssen Jules-Voorspools Pierre
u:s’ u:hb u:k8 u:h2
6 32 4 6 120 NIN+1 1 9 —-450 04Ss+1 1 9 140 N3S= 9 1 -650 04S+1
u:h4 u:rB u:k8 u:h7




NZ OW |gift 5 NZ OW gift 6 NZ OW gift 7 NZ OW gift 8 Nz OW NZ OW |gift 9 NZ OW gift 10 NZ OW gift 11 NZ OW gift 12 NZ OW
2 32 0 10 -400 O3N= 0 10 -50 z2N-1 7 3 -180 W2N+2 1 9 -50 N5H-1 3 33 4 6 -50 NIN-1 2 8 -650 W4S+1 1 9 -50 NIN-1 2 8 50 WIN-1
u:h4 u:k2 u:k7 u:rB u:k3 u:k8 u:sb5 u:ko6
5 6 5 5 -130 O3R+1 | 10 0 170 Z1H+3 7 3 -180 W2N+2 4 6 490 N3N+3 32 5 2 8 -110 028= 2 8 —650 W4S+1 9 1 120 NIN+1 8 2 100 WIN-2
u:k5 u:k2 u:h2 u:k9 urrz u:h8 u:sb5 u:r2
4 31|10 0 140 ZlK!= 8 2 120 zZIN+1 | 10 0 -90 OIN= 8 2 510 z4H+3 1 2 9 1 100 02s-1 8 2 -620 W4S= 6 4 100 O1N-2 8 2 100 W1K-2
u:sA u:r3 u:slo u:k7 urr2 u:h8 u:rd u:hB
36 34 8 2 -90 O2R= 4 6 110 Z1H+1 1 9 -630 W3N+1 8 2 510 N4H+3 4 6 0 10 -120 OIN+1 2 8 —650 W4S+1 4 6 90 N2K= 8 2 100 WIN-2
u:kA u:r3 u:h7 u:k7 u:hb u:hé6 u:sb5 u:r2
1 3 2 8 -140 W1s+2 4 6 110 N1H+1 4 6 —600 W3N= 1 9 -50 N6H-1 36 35 6 4 90 NIN= 8 2 -620 W4S= 9 1 120 ZIN+1 2 8 50 WIN-1
u:k6 u:s2 u:h2 u:k9 u:r6 u:k8 u:sVv u:r2
33 35 5 5 =130 O2R+2 4 6 110 Z1H+1 1 9 -630 W3N+1 8 2 510 N5H+2 31 34 9 1 100 02s-1 8 2 -620 04S= 1 9 -50 N2s-1 2 8 50 WIN-1
u:k5 u:k2 u:h2 u:k9 u:kA u:k5 u:k3 u:r2




NZ OW |gift 13 NZ OW gift 14 NZ OW gift 15 NZ OW gift 16 NZ OW NZ OW |gift 17 NZ OW gift 18 NzZ OW gift 19 NZ OW gift 20 Nz OW
4 34 5 5 =170 W2H+2 8 2 130 Z4R= 9 1 630 Z3N+1 | 10 0 140 z2s+1 5 35|10 0 140 N3H= 9 1 690 Z3N+3 | 10 0 140 z2s+1 1 9 -660 W3N+2
u:k3 u:sb u:slo u:rH urr2 u:h2 u:kH u:k2
1 32|10 0 100 W4H-1 | 10 0 420 z4H= 5 5 600 N3N= 7 3 100 W1N-1 2 34 5 5 -50 N3H-1 2 8 -100 Z5K-1 6 4 100 O3R-1 6 4 -620 04s=
u:h2 u:s3 u:s2 u:rb u:s8 u:h4 u:s3 u:r2
33 36 5 5 -170 W3H+1 2 8 -150 Zz2N-3 1 9 -100 z3N-1 4 6 -50 Z3N-1 1 6 2 8 -100 N3R-2 0 10 -200 Z6K-2 2 8 -50 N4s-1 8 2 100 04s-1
u:rv u:s3 u:h9 u:ho9 u:k3 u:hb5 u:rA u:k5
35 6 0 10 -620 W4H= 4 6 —-100 Z3N-2 1 9 -100 z3N-1 7 3 100 wW2N-1 31 3 0 10 -200 N4H-4 6 4 660 Z3N+2 0 10 -130 O3R+1 1 9 -660 W3N+2
u:rv u:s’ u:h9 u:h3 u:h8 u:h4 u:sA u:k2
3 5 2 8 -200 W2H+3 6 4 -50 Zz4H-1 5 5 600 N3N= 1 9 -90 WIN= 32 33 5 5 =50 N3H-1 4 6 650 N4S+1 6 4 100 O3R-1 | 10 0 200 O3N-2
u:sV u:s3 u:s2 u:rb urr2 u:k4 u:sA u:ho6
2 31 8 2 —-140 W2H+1 0 10 -200 z5R-4 9 1 630 N3N+1 1 9 -90 WIN= 4 36 8 2 90 NIN= 9 1 690 N3N+3 6 4 100 O4R-1 4 6 -630 W3N+1
u:k3 u:s3 u:r3 u:rb u:k3 u:h2 u:sA u:k2




Nz Ow

gift 21 NZ OW
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gift 23 NZ OW

gift 24 NZ OW

Nz Ow

gift 25 NZ OW

gift 26 NZ OW

gift 27 NZ OW

gift 28 NZ OW

6 36
33 31
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4 5
2 3

9 1 -400
0 10 -450
4 6 —-420
4 6 —-420
9 1 -400
4 6 —-420
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O3N=
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0 10
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9 1 100
6 4 -110
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36 3
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10 0 400
8 2 300
6 4 90
0 10 -150
3 7 -110
3 7 -110
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W3N-3

Z2R=

WIN+2

02K+1
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4 6 100
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0 10 -140
4 6 100
4 6 100
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4 6 90
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9 1 100
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4 6 90
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